EARAZROREIERT — 2 N—XBISY —F 2012568108 (H) 5M@E1A&E2H

v JL—X C2 #5%R4KE (xwlw | lmEmml - |5 5) wom 8
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NS &K TER :31. -1-1- . — FEBF (£8)
11111 THIHT Ty b 4 4 EES.O 1(:2)9 1-1-1-1 | 39.9 1 (4_7;)) A "
R:TwINEry b BV —F TV N e
5 NESEEDSI-CY, £ 4 E;!Z?%— 1;(352).9 3432 |40.3| — | 3 (4_355) Eﬁﬁ_ﬁg (=5)
L:a=—/xLLy b BF-—TLTvT BT 7 —L4
- - = . 54 - LS (£R)
3l5| 5| F—~NUN H o6 56.0T 1.(3233.3 5-5-4-3 | 40.3 5 ;1_646) el ®
R:2&—FTaAV—-> BNV INRVEUH B2 %Y K
S S # o4 | IS 1:33.8 7-7-6-5 | 40.5| — 6 473 | WTEX (£8)
4l8|8| P/ TAh> £54.0 (2 1/2) (-3) |#AH
LT RIAYER BFSaguALR =Eiie
IITF#&E :34. —6-7- . — KHAE (£B)
slp 7| 1wuzs— # 6 WLk 1(334)4 6-6-7-7 | 41.0 2 (4_338) v =
R:2g—FATAV—-> BTV EIAXT—T Fit RS
o FHAFIK :34. -2-2- . — Akt (1£8)
N . BEEZZ2E R i G | ¢ ?f; WA
RAHRE—F L B:wTHILEYF MR 8B
KIEHFER : -8-8- - RINEY (B8)
7 6| F v /T 5| 25 (17;321% 8-8-8-8 | 41.0 8 ;1_773) Bs H
Ly Y TLL T BHIIHH YR = =7
C g HFEA :35. -3-5- . — HHEEAIE (1£%)
8 3| Py vHE— b i 5 R (11315/20) 2-3-5-6 | 41.9 7 fso) s
LYoy TLo74 BiNyE-R)—3— REEHSIS
® I —F—@EBIERL
13=7r= 1,3,4,2,5,7,8,6
Aol=5r= 1,2,3,4,5,7,8,6
30—7+— 1,2,4,5,3,8,7,6
43—+ — 1,4,5,2,8,3,7,6
[ RN
B OB 1 280M 714K 1-4 180H B E 1-4 510M &R 1-4-5 1,030M
8 B 1 120/ 1-5 490MH B H 1-4 510 JEH 1-4-5 3,590M
4 130M4 4-5 420
5 1504

ABICOVWTRDTEEERROODE. TR LIV,



